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A husband is neither a borrower nor a renter in his wife’s assets

OVERVIEW

X217 ruled that the status of the husband regarding the 2197 >021 of his wife, is neither
that of a XW nor of a 75w, but rather of a buyer (7?12); meaning that he is not
liable for " and certainly not for o1& which happened to the 2197 °031. Our '01n
qualifies this ruling.
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The *'"2 maintains, however, that the husband is a n"2 in the 2%%n >021, and is

liable for 7yswe; if he neglected to protect the A7 021,
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So according to this, one who buys a cow for thirty days, even though he is

neither a X1 not a 727 since he acquired it using the term of purchase -
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Nevertheless he is a 17'"'w and will be liable for v ws.

SUMMARY
A husband 291 °0212 as well as a 7a1% P12 are Q7 MW,

THINKING IT OVER

It seems that m»oIn derives the ruling by a av '9% 702 17 (that he is a 1"w) from
the ruling of INWXR 40212 H¥2.° Mooin did not explain how he derived his ruling
regarding 2197 033, but it would seem that the same reason that applies by 11%7 °051
should equally apply to o1 9% 72 np2n.° Why do we need to derive it from 03
N2l

! This will depend if 2°5v22 nv°wD is 271 or WA, See X,77X, a NPY?MA between K12 KAX 2.

2 See ‘Thinking it over’.

3 He will not be liable for X"11 (and certainly not Po1X) which happened to this cow.

4 He is just like the 1nwX °0231 Y¥2 who is neither a X W nor a 92w, but he is a P17, and is 7y°woa 21 like a n"w.

3 See footnote # 2. Mo0IN writes 1"°99Y; indicating that since this is the ruling by »%» 033, it also applies by np9n
7102,

¢ Alternately; which of these two would we be more likely to assume that he is a 1"w; by a 3192 °0312 %v2 or by a 1>
ar 9o,

7 From where indeed did 'o1n derive his ruling? See 7"wwmn? nwwsa o1.
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